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Note: the 17 forbids eating any new grain (w7n) that sprouted after nos until the next year’s Iy is offered. The 771 refers
to the 10y as Dy V¥p YN, indicating that that offering ought to be the 1% grain harvested.
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L7 mwn: dispute nnon/nmn 1 re: times for ynn npr1a
a. 7miv 1. check 14% at night, morning and at midday (1»an nyw) - per vv. 1-3
b. o2wom check 14t at night; if not — at morning; if not — at midday —or during time of moR
i. Clarification: nTn» 7 also intends 1 np>1a — dispute is whether we allow np»7a pasts 12 jnt
ii. /i 1 is concerned that if he finds ynn he may eat it
II. Analysis of N7’ "7's concern M0 92°n% MR RNYT
a. Challengel: from ruling re: preparing wn before 1nyn napn (n:> mmn)
i. Positions: (mnan::) n"1 was opposed to practice; N’ "1 was in favor
ii. Answer (¥27): harvesting and threshing of vn only allowed (before 1ny) via n1v, they’ll remember not to eat
b. Challenge2: from n:» mmn — allowing harvesting of v1n from flooded fields (we determined author to be nmn> 7)
i. Answer (73N, to both challenges): people instinctively avoid w1n, not ynn
ii. Note (837): there’s also a contradiction within 1327 (pnn vs. vn)
1.Resolution (827): since you are searching in order to burn ynn, won't eat it, unlike wn
iii. Answer (in »wx "7's name, rejected as a false report): wN is inedible as is
II. Challenges to implications of N1’ *1’s rulings:
a. Stringency: oM 1 establishes precautionary n11 wherever people don't instinctively avoid the yan
i. Challenge: n:a2 naw - N1’ " allows using oil in a candle-source on naw,
1.Even though: people generally access oil (if they did so on naw, it would be »223 o
2. Answer: people have instinctive fear of naw and will avoid it
a) Tangent: contradiction re: naw, where nm '3, contra wnan, forbids making a bow in a broken rope
i. Answer: nTi "1 disallows because he holds (®:10 naw) that a bow is a full 1vp
ii. Associated contradiction: within 13227’s position re: tying
1.237. do not allow using a weaver’s rope (certainly will be untied later) to secure a pail, 7'nn »
2. Answer: people will confuse 1 rope with the other; won’t confuse making a bow with a knot
b. Leniency: i1’ 1 doesn’t establish precaution wherever people instinctively avoid the yan
i. Challengel: xn»11 — nmi " forbids 103 from 07T Ntpn from any part of NN N2
1.Concern: perhaps he’ll make a oin
2. Answer: he’s concerned about the financial loss and will let blood from problematic site (e.g. lip)
a) 1237s position (they allow): if we don’t allow him at all, he’ll violate the ruling
ii. Challenge2: n:a nx»a — N "1 allows combing an animal on v with large-tooth comb (doesn’t make nman)
1. Answer: the psychological mindset of the owner is not the same
a) 71z if he doesn’t let blood properly, the animal will die and he’ll lose his equity
b) Combing: if he doesn’t use small-tooth comb, the animal will be uncomfortable
i. In addition: he’ll be able to properly comb it after v"
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